
HELPFUL HINT:
It is recommended that you enlist the aid of a “helper” to assist in the assembly of “The Blynd”.

NOTE:
Anchoring system is owner’s responsibility.

Plastic Vacuum Forming, Inc. assumes no liability for injury or damage to persons or property resulting from the use of it’s 
products or services. The products that we sell must be assembled, installed, anchored and used with care, caution, and 
common sense.

Please read all instructions before starting assembly.

RECOMMENDED TOOLS:
Cordless Drill
Phillips Head Bit

BOXED:
Assembly Instructions & Item Listing Sheet
(1)   Door
(3)   Side Walls
(1)   Door Side
(1)   Roof
(1)   4'x4' Plywood Floor
(4)   Windows
(1)   Package Screws & Clips
(1)   Package Door Hardware
(1)   Aluminum Bottom Door Stop

SINGLE BLYND 
ASSEMBLY INSTRUCTIONS

12103 Radium Dr. • San Antonio • Texas • 78216 • 210-344-8531 • 1-800-458-0263

a product of

© 2011 PLASTIC VACUUM FORMING, INC. 

Place back panel between helper or a stable object. Overlap corner panels as shown and secure each side panel to 
back panel with seven screws and clips.

Slide plywood into bottom of back and side panel slots. NOTE: Plywood must be positioned with side marked “UP” as 
shown. Extend the life of the floor with an exterior oil based paint or waterseal product.

Slide front panel into position and secure to sides.

Position top over wall flanges. From inside push upper panel against roof flange and secure each side with screws and 
clips.

Line up door stop and secure to floor flange as shown with flange turned outward.

Turn “The Blynd” on side and secure plastic flanges to plywood. See illustration 2.

Install windows with bent side facing out.

NOTE: Floor handle only comes with a Tower Kit. To assemble use holes provided in floor to locate and install handle. 
Use two 1/4"-20x1-1/4" Hex Capscrews, 5/16" fender washers,  and 1/4"-20 Hex Nuts to secure.

1

2

3
4

5
6
7

Happy Hunting!

INSTRUCTIONS:

3
6

4

5

1 PLAN VIEW

SCREW

CLIP

PANELS

7

NOTE: Windows 
are prebent to 
insure stability in 
window track.

NOTE: Door comes 
installed. Shown off for 
clarity of other assemblies.

NOTE: When 
securing walls, 
start with the 
center screw and 
work upward, then 
downward. Be sure 
not to over torque 
screws and clips.

PLYWOOD

2

CLIP

SCREW

HINGE

HASP

DOOR PULL

OUTSIDE DIAGRAM

DOOR UPGRADE
ASSEMBLY INSTRUCTIONS

HELPFUL HINT:
It is recommended that you enlist the aid of a “helper” to assist in the assembly of “The Blynd”.

NOTE:
Anchoring system is owner’s responsibility.

Plastic Vacuum Forming, Inc. assumes no liability for injury or damage to persons or property resulting from the use of it’s 
products or services. The products that we sell must be assembled, installed, anchored and used with care, caution, and 
common sense.

Please read all instructions before starting assembly.

RECOMMENDED TOOLS:
Cordless Drill
Phillips Head Bit

BOXED:
Assembly Instructions & Item Listing Sheet
(1)   Door
(3)   Side Walls
(1)   Door Side
(1)   Roof
(1)   4'x4' Plywood Floor
(4)   Windows
(1)   Package Screws & Clips
(1)   Package Door Hardware
(1)   Aluminum Bottom Door Stop

SINGLE BLYND 
ASSEMBLY INSTRUCTIONS

12103 Radium Dr. • San Antonio • Texas • 78216 • 210-344-8531 • 1-800-458-0263

a product of

© 2011 PLASTIC VACUUM FORMING, INC. 

Place back panel between helper or a stable object. Overlap corner panels as shown and secure each side panel to 
back panel with seven screws and clips.

Slide plywood into bottom of back and side panel slots. NOTE: Plywood must be positioned with side marked “UP” as 
shown. Extend the life of the floor with an exterior oil based paint or waterseal product.

Slide front panel into position and secure to sides.

Position top over wall flanges. From inside push upper panel against roof flange and secure each side with screws and 
clips.

Line up door stop and secure to floor flange as shown with flange turned outward.

Turn “The Blynd” on side and secure plastic flanges to plywood. See illustration 2.

Install windows with bent side facing out.

NOTE: Floor handle only comes with a Tower Kit. To assemble use holes provided in floor to locate and install handle. 
Use two 1/4"-20x1-1/4" Hex Capscrews, 5/16" fender washers,  and 1/4"-20 Hex Nuts to secure.

1

2

3
4

5
6
7

Happy Hunting!

INSTRUCTIONS:

3
6

4

5

1 PLAN VIEW

SCREW

CLIP

PANELS

7

NOTE: Windows 
are prebent to 
insure stability in 
window track.

NOTE: Door comes 
installed. Shown off for 
clarity of other assemblies.

NOTE: When 
securing walls, 
start with the 
center screw and 
work upward, then 
downward. Be sure 
not to over torque 
screws and clips.

PLYWOOD

2

© 1980 PLASTIC VACUUM FORMING, INC.



CLIP

SCREW

HINGE

HASP

DOOR PULL

OUTSIDE DIAGRAM

DOWNLOAD AT WWW.BLYND.COM

Exploded view

Fastener detail

NOTE:
ONLY THE WALL FASTENERS
ARE SHOWN IN THE DIAGRAM.
ROOF AND FLOOR RECEIVE
THREE (3) FASTENERS ON
EACH SIDE OF THE DOGHOUSE. 

HELPFUL HINT: IT IS RECOMMENDED THAT YOU ENLIST THE AID OF A HELPER TO ASSEMBLE THE DOG HOUSE.

RECOMMENDED TOOLS: CORDLESS DRILL AND PHILLIPS BIT.

BOXED: 4 WALLS, ROOF, FLOOR, AND PKG OF SCREWS, CLIPS AND SCREW TIP COVERS.

DOGHOUSE ASSEMBLY INSTRUCTIONS

12103 Radium Dr. • San Antonio • Texas • 78216 • 210-344-8531 • 1-800-458-0263

a product of

© 2006 PLASTIC VACUUM FORMING, INC.

Plastic Vacuum Forming, Inc. assumes no liability for injury or damage to persons or property resulting from the use of
it’s products or services.  The products that we sell must be assembled, installed, anchored and used with care, caution,
and common sense.

Please read all instructions before starting assembly.

INSTRUCTIONS:

 1 ASSEMBLE ON A FLAT SURFACE

 2 ALIGN AND OVERLAP CORNERS OF WALLS AND SECURE WITH 3 SCREWS AND CLIPS FOR EACH SIDE. 
  COVER SCREW TIPS WITH TIP COVERS

 3 INSERT FLOOR WITH THE LOW SIDE TO THE FRONT. 
  APPLY PRESSURE TO THE INSIDE CORNERS AND SCREW THE CORNERS IN  PLACE. 
  AFTER THE CORNERS ARE SECURED, INSTALL THE CENTER SCREWS AND CLIPS. COVER SCREW TIPS WITH TIP COVERS

 4 ATTACH THE ROOF TO THE TOP OF THE WALLS WITH SCREWS AND CLIPS.

SCREW TIP
COVER

SCREW

DOGHOUSE

CLIP


